
Subject: Re: oplot - error in plotting to Z buffer only
Posted by wmc on Mon, 08 Feb 1999 08:00:00 GMT
View Forum Message <> Reply to Message

Gwyn Fireman <fireman@mcst.gsfc.nasa.gov> wrote:
> On one set of data it fails with the error:
> % OPLOT: No valid points, must have at least 2 distinct points
> But, but - I *do* have points to plot!

I think I've seen this before, but can't remember the exact circumstances.
I seem to recall that the exact size of the window mattered - do you get the
same failures if the Z-buffer and interactive window are exactly the same
size?

-William

-- 
William M Connolley | wmc@bas.ac.uk | http://www.nbs.ac.uk/public/icd/wmc/
Climate Modeller, British Antarctic Survey | Disclaimer: I speak for myself
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